100 * 2 =                        е
300 : 6 =                         ч
75 * 2 =                          р
1240 – 200 =                 н
750 + 40 =                     в
240 : 30 =                      8
0 * 200 =                        м
130 : 10 =                       п
135 +200 =                     т
1000 – 200 =                 ы
140 : 140 =                    д
20 * 8 =                          к
560 : 8 =                        а
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	200
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	790
	150
	200
	1
	1040
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	13
	150
	8
	790
	800
	50
	160
	70
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